11”146 (Kl 177/146)

/—N Linearized knot diagam

/ Solving Sequence
4

—> —> — — —> — — — Ca.Ce. C
A knot diagranﬂ L7 023 poe 5804 401111 P 9 o 6 Cl010%> 35C5,C9

Ideals for irreducible component#ﬂ)f Xpar

11 = (9u21 99u® + - - + 8b + 344, 63u>" — 461u*® + - - + 16a + 368, u*® — 9u?! + - .- + 80u — 16)
Vpan® + 8 7u7—2u6—|—8u5—|—4u4—6u3—5u2+b—|—2u+3, w20 420 — 4,

15— 5utd —ut? + 120t + 3u® — 196 — 70® + 210" + 110 — 16u° — 12u? + 8u® + Tu? — 2u — 2)

34116957547a"u? + 99566701011a%u? + - - - + 1815673106251a + 882543035301,

3a"u® + 7aSu® + - - - — 56a + 65, u +u? — 1)

= (-u
= (=

* 3 irreducible components of dim¢ = 0, with total 61 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I* = (9u®' — 99u?® + ... 4 8b + 344, 63u?' — 461u?° 4 ...
368, u?? — 9u?! + ...+ 80u — 16)
(i) Arc colorings
1
ayp = O
0
ar = \u
1
a2 = u2
—u?+1
a3 = U/Q
f?—gum + %uzo 4+ 4+ %Uf 23
as = \ —gu*t 4+ Fu* 4 -+ 175u — 43

27 21 241 20 323
+ 4o 438y 41
16 6 2
ay = 58}$u21 453 20 + - — 356w + 79 >
9yl — %uzo SRR ESE
aj; = _'87u21_|_381u20+._._§25u+38)
—0.0625000u2! 4+ 2.06250620 + - - - + 41.2500u — 11.5000
ag = 19,21 79 20+_.,_623u+75
4
%UQ 24éu20+”.7323u+40
ae = °3 1+43u20+ +357Tu — 79
- .0625000u21 +2.06250u2" + - - - + 41.2500u — 11.5000
aig = Hu21_2771u20+..._@u+99
2 4 2
—0.0625000u2! + 2.06250u2° + - - - + 41.2500u — 11.5000
alp = 177u21—%u20+- 865u+99
(ii) Obstruction class = —1

(iii) Cusp Shapes = — 224! 4 301420

+ -+ 4+ 914u — 202

+ 16a +



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 u?? —9u? -+ 80u—16
C2 u?? + 110 4 - 4+ 1408u + 256
c3,Cg, C9 w2 +18u 0 + . —3u—1
C4,C11 w2 —6u - du—1
Cs u?? + 120! + - 4+ 672u + 64
c8 u?? — 120" + - — 64u + 8
€10 u? +ut 4+ =207 10




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1,C7 y*2 — 11y + -+ — 1408y + 256

C2 y*2 +y* 4+ .. — 663552y + 65536
€3, C6, C9 Y2 +36y° 4+ 9y +1

ca, c11 y* — 12y + - — 66y + 1
Cs y*2 — 262 + ... — 273920y + 4096
Cs y?2 — 2yt 4 4224y + 64
c10 y*2 + 19921 + -+ + 40y + 100




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —1.066710 + 0.2262221
a = —0.351526 + 0.3070531
b = —0.539318 + 0.9103821

—2.44040 + 0.117201

—7.20404 — 1.754451

u = —1.066710 — 0.226222]
a = —0.351526 — 0.3070531
—0.539318 — 0.9103821

—2.44040 — 0.117201

—7.20404 + 1.754451

1.039800 + 0.529986.1
0.729503 + 1.1400601
—0.827030 + 0.1443641

0.80566 — 4.347661

—4.70703 + 6.765791

1.039800 — 0.5299861
0.729503 — 1.1400601
—0.827030 — 0.1443641

0.80566 + 4.347661

—4.70703 — 6.765791

0.392350 + 0.7057151
= —1.47104 — 0.615917
0.989758 + 0.6770911

1.86600 + 2.083281

1.28577 — 1.879121

0.392350 — 0.7057151
= —1.47104 4+ 0.615911
0.989758 — 0.6770911

1.86600 — 2.083281

1.28577 + 1.879121

= 0.583477 4 1.0509301
0.954459 + 0.7385451
—1.41570 — 0.827711

11.22610 4 7.920161

—1.17318 — 3.445041

0.583477 — 1.0509307
0.954459 — 0.7385451
—1.41570 + 0.827711

11.22610 — 7.920161

—1.17318 + 3.445041

0.498409 + 0.6208161
= —1.379510 + 0.2472911
0.877040 — 0.1544061

2.40742 — 0.202001

—0.358944 4 0.5762501

0.498409 — 0.6208161
—1.379510 — 0.2472911

b
u
a
b
U
a
b
U
a
b
u
a
b
u
a
b
u
a
b
u
a
b
U
a=
b= 0.877040 + 0.1544061

2.40742 + 0.202001

—0.358944 — 0.5762501




Solutions to I}

V=1(vol + v=1C)

Cusp shape

= 1.091100 + 0.5687721
= 1.66508 4 1.057671
= —1.084320 + 0.8825931

—0.17078 — 6.979761

—0.36212 + 5.292201

= 1.091100 — 0.5687721
= 1.66508 — 1.057671
—1.084320 — 0.8825931

—0.17078 + 6.979761

—0.36212 — 5.292201

0.520231 + 1.1510801
0.694248 + 0.1937371
= —1.102170 — 0.2727191

10.39030 — 0.619411

1.005762 + 0.2099711

= 0.520231 — 1.1510801
= 0.694248 — 0.1937371
= —1.102170 + 0.2727191

10.39030 + 0.619411

1.005762 — 0.2099711

= 1.154680 + 0.7697331
= —1.41430 — 0.793221
= 1.38480 — 1.097121

9.4240 — 14.49701

—3.20540 + 7.409241

= 1.154680 — 0.7697331
= —1.41430 + 0.793221
= 1.38480+ 1.097121

9.4240 4 14.49701

—3.20540 — 7.409241

= 1.21138 4 0.808731
= —0.770380 — 0.5565601
= 0.946982 — 0.6649251

8.24676 — 6.353991

—2.34309 + 5.148711

= 1.21138 — 0.808731
= —0.770380 + 0.5565601
= 0.946982 + 0.6649251

8.24676 + 6.353991

—2.34309 — 5.148711

= —1.46566 + 0.128571
= 0.213752 + 0.1494881
= 0.844485+ 0.4297061

2.91041 + 4.969231

—3.04819 — 6.019521

= —1.46566 — 0.128571
= 0.213752 — 0.1494881
= 0.844485 — 0.4297061

2.91041 — 4.969231

—3.04819 + 6.019521




Solutions to I* v —1(vol + v/—1CS) Cusp shape

= —0.492053

—0.403784 —0.825428 —11.7690
—0.296446

1.57389

0.163193 —7.90371 —59.0100

U
a
b
U
a
b= 0.147402




II.
IY = (—u''+4u®+- - -+ b+3, u'*+2u3+-.-42a—4, u'®—5u'34-. . —2u—2)

(i) Arc colorings

o ()

0
ar = U
1
a2: u2
—u? +1
a3: U/Q
7%U147U13+"'7§u+2
as = \ gl — 449 — 08 + Tu" + 208 — 8ud — du* + 6ud +5u? —2u—3
—u
ag = 7u3+u
—%um—ul?’—i— —%u+2
a4 = —u' 4+ 5ul? 4+ —bu—3
guu 23u12+~+%u—5
ain =\ oy 42uB 4. Fdu+5b
—SuM 44— Tyt 2
ag = \ 4y +3u3 4+ +12u+5
—%ul‘l uld + —%u—i—l
ae = —u' 4+ 50?2 4+ —4u—3
—SuM 44— Tu42
a0 = \4u't +4uB + .-+ 1lu+7
—%u14+u13+---—%u+2
a0 = \du'* 403 4+  F 1lu+ 7

(ii) Obstruction class =1

(iii) Cusp Shapes = —8u!? — 11u!3 + 37u'? 4 56u't — 69u!® — 119u° + 89u® +
182u” — 56uS — 195u° — 6u* 4 135u” 4 41u? — 48u — 22



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u'® —butd o —2u—2
C2 u'® +10uM + - 4+ 32u + 4
c3,Co 4B fu—1
C4,C11 w4+ A —1
Cs u'® — 11w 4 4 T30 — 25
6 u® AP w4l
€7 u'® —Bul o —2u 42
s u® =T 30— 1
10 u® a4 2u 42




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 Yyt — 10y + -+ 32y — 4
Ca Y oyl 8y — 16
€3, €6, C9 Y+ 8yt 11y — 1
C4,C11 yP Ayt 14y — 1
Cs Yt —19yM + ... + 4329y — 625
cs Y 3y 6y — 1
c1o Y Ty 13907 — 4
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.945062 + 0.3540821
= 0.565133 + 0.3881671
= 0.570749 + 1.2431901

—3.02280 + 1.541461

—6.80860 + 0.330731

0.945062 — 0.3540821
0.565133 — 0.3881671
0.570749 — 1.2431901

—3.02280 — 1.541461

—6.80860 — 0.330731

—0.573037 4 0.7721661
0.944181 — 0.8052221
—0.884792 + 0.5706191

0.37010 — 2.036761

—5.30954 4 3.272191

—0.573037 — 0.7721661
0.944181 + 0.8052221
—0.884792 — 0.5706191

0.37010 + 2.036761

—5.30954 — 3.272191

= 0.869875 + 0.3023921
= 0.175063 + 0.6515091
—0.271019 + 1.1451801

—2.66889 — 4.304031

—6.64337 4 8.951641

0.869875 — 0.3023921
= 0.175063 — 0.6515091
—0.271019 — 1.1451801

—2.66889 + 4.304031

—6.64337 — 8.951641

0.867167 + 0.7699401
= —0.507277 — 0.1208291
—0.266261 — 1.1919701

7.81854 — 2.907161

—1.49116 4 2.363241

0.867167 — 0.7699401
—0.507277 4+ 0.1208291
—0.266261 + 1.1919701

7.81854 4 2.907161

—1.49116 — 2.363241

—1.042710 + 0.5997021
= —1.70977 4+ 0.733141
1.015990 + 0.8819081

—1.08562 + 7.205731

—9.25026 — 7.695651

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &

—1.042710 — 0.5997021
= —1.70977 — 0.733141
= 1.015990 — 0.8819081

—1.08562 — 7.205731

—9.25026 + 7.695651
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —1.173890 + 0.3547151
= 0.415207 + 1.2150401
0.613391 — 0.1033611

2.75922 + 3.347281

—2.20513 — 3.303651

—1.173890 — 0.3547151
= 0.415207 — 1.2150401
0.613391 + 0.1033611

2.75922 — 3.347281

—2.20513 + 3.303651

= —0.691226 + 0.2406251

—0.934484 — 0.4380091

4.67692 — 0.808451

3.56798 — 2.117271

—0.691226 — 0.2406251
3.57976 — 0.400151
—0.934484 4 0.4380091

4.67692 4 0.808451

3.56798 4+ 2.117271

1.59751
0.0753958

u

a

b

u

a

b

u

a= 3.57976 + 0.400151
b

u

a

b

U

a=

b= 0.312857

—7.82532

43.2800
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I T% = (

10", 3a"u? 4+ 7abu? + -

(i) Arc colorings
(1)

u? 41

u2
0.00955622a"u

v

a; =

a7 =

[

az =

a
as =

—0.0206730a"u + 0.00671494a542
a4 = 0.0365923a"u2 — 0.106197a%u2 + - - -

—0. 0136970a7u2 +0. 167653a6u2 +

0.0545800a"u2 — 0.0709107a%u
—0.0337296a"u2 — 0.0293879a6u2 4o
—0.0280221a"u? + 0.0695256a%u2 + - - -
—0. 0381529a7u2 +0. 0571347a6u2 +
0.0365923a"u? — 0.106197a%u
0.0337296a"u? — 0. 0293879a6u2 +-

ag = (
aio = ( 0. 0419144a7u2 +0.0898677a%u? 4 -
0.0337296a"u? — 0.0293879a5u>

alg = (

(ii) Obstruction class = —1

(iii) Cusp Shapes
1164454014992 ;7,2 | 1180088464472 /6,2 | .
3570132856135 ¢ 3570132856135 ¢

13

—3.41 X 10%7u? + 9.96 x 101%%u2 + - ..
- —56a + 65, u® +u? —1)

—0.0278888a%u? + - - -

+ 1.82 x 10'%2a + 8.83 x

— 0.508573a — 0.247202)

+ .- —0.167214a + 0.361442>

=+ 0.254915a — 0.349774

—0.128713a + 0.671444
—0.318374a — 0.618795

+ 0.243004a + 1.20707
+ 0.701359a — 0.906712

-+ 0.560725a + 0.216812
— 0.745085a — 0.349774

-+ 0.243004a + 1.20707
-+ 1.22012a — 0.592528

+ -+ +0.243004a + 1.20707
0.0419144a"u? + 0.0898677a%u? + - - -

+ 1.22012a — 0.592528

_ 4943997575288
"~ 3570132856135

_ 7861314901686
3570132856135




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,c7 (u 4+ u? —1)8

C2 (u +u? +2u+1)8
€3, C6, Co ut —u® 4. — 2760+ 1133

C4,C11 u? —3u + - —54u+ 59
% (u* = 3u® +u? + 2u +1)°
cs (uh + u® + u? + 1)
C10 w?t —u® 4. — 3286u + 2677

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

ciyeq W’ —y*+2y—1)°

2 (y* +3y* +2y - 1)°
€3, Cg, Co y* 4 27y* + .- + 64316y + 1283689

c4,C11 y?t 4 3y?% 4 .. — 3152y + 3481
Cs (y* — 7y® + 15y% — 2y + 1)°
‘s (' + 4% +3y° + 2y +1)°
10 y** + 15y%3 + - + 16368400y + 7166329
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(vi) Complex Volumes and Cusp Shapes

Solutions to 1§ v—1(vol + /—1C5) Cusp shape

u = —0.877439 4 0.7448621
a = —0.921360 — 0.2194931 8.16994 + 1.413021 1.33649 + 1.929301
b= 0.902902 — 0.5396901

u = —0.877439 4 0.7448621
a= 0.504527 — 0.9690521 1.168190 — 0.3358411 | —2.31698 — 0.414651
b= —1.196950 + 0.4727051

u = —0.877439 4 0.7448621
a = —0.779487 4 0.8661651 1.168190 — 0.3358411 | —2.31698 — 0.414651
b= 10.685429 — 0.0208921

u = —0.877439 4 0.7448621
= 0.051447 + 1.2549501 8.16994 + 4.243231 1.33649 — 7.888191
1.53802 — 1.792811

—0.877439 4 0.7448621
1.42701 — 0.089671 1.16819 + 5.992091 | —2.31698 — 5.544251
—0.947309 — 0.4085501

—0.877439 4+ 0.7448621
= —1.58305 4 0.338351 1.16819 + 5.992091 | —2.31698 — 5.544251
= 1.28710 + 1.000441

= —0.877439 + 0.7448621
= 1.04688 — 1.385501 8.16994 + 4.243231 1.33649 — 7.888191

—0.877439 + 0.7448621
1.87343 — 0.343481 8.16994 + 1.413021 1.33649 + 1.929301
—1.01797 — 2.029021

—0.877439 — 0.7448621
—0.921360 + 0.2194931 8.16994 — 1.413021 1.33649 — 1.929301
0.902902 + 0.5396901

—0.877439 — 0.7448621
= 0.504527 4+ 0.9690521 1.168190 4 0.3358411 | —2.31698 + 0.414651
= —1.196950 — 0.4727051

b
U
a
b
U
a
b
U
a
b = —0.605985 — 0.6036031
U
a
b
U
a
b
U
a
b
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.877439 — 0.7448621
—0.779487 — 0.8661651
0.685429 + 0.0208921

1.168190 4 0.3358411

—2.31698 + 0.414651

—0.877439 — 0.7448621
0.051447 — 1.2549501
1.53802 + 1.792811

8.16994 — 4.243231

1.33649 + 7.888191

= —0.877439 — 0.7448621
1.42701 + 0.089671
—0.947309 + 0.4085501

1.16819 — 5.992091

—2.31698 + 5.544251

—0.877439 — 0.7448621
—1.58305 — 0.338351
1.28710 — 1.000441

1.16819 — 5.992091

—2.31698 + 5.544251

—0.877439 — 0.7448621
1.04688 + 1.385501
—0.605985 + 0.6036031

8.16994 — 4.243231

1.33649 + 7.888191

—0.877439 — 0.7448621
1.87343 + 0.343481
—1.01797 + 2.029021

8.16994 — 1.413021

1.33649 — 1.929307

0.754878
0.906952 + 0.3665401
0.273354 + 1.2425801

—2.96939 + 3.163961

—8.84625 — 2.564801

0.754878
0.906952 — 0.3665401
0.273354 — 1.2425801

—2.96939 — 3.163961

—8.84625 + 2.564801

0.754878
0.322520 + 1.3693801
—0.500853 4 1.0570201

—2.96939 — 3.163961

—8.84625 + 2.564801

>~ Q@ €| Q@ €|l & €| & &8 Q& 8| Q@ 8|l & 8|l & 8|l & 8| & g

0.754878
= 0.322520 — 1.3693801
= —0.500853 — 1.0570201

—2.96939 + 3.163961

—8.84625 — 2.564801
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Solutions to I3

V=1(vol + v=1CS)

Cusp shape

—3.45231 — 0.294601
—0.158156 + 0.5408661

4.03235 + 1.415101

—5.19277 — 4.908741

u = 0.754878

a = —2.39656 + 0.938881 4.03235 — 1.415101 | —5.19277 + 4.908741
b= 1.240420 + 0.3126271

u = 0.754878

a = —2.39656 — 0.938881 4.03235 4 1.415101 | —5.19277 — 4.908741
b= 1.240420 — 0.3126271

U 0.754878

a = —3.45231 + 0.294601 4.03235 — 1.415101 | —5.19277 + 4.908741
b= —0.158156 — 0.5408661

u = 0.754878

a

b
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (u? +u? = 1)®)(u'® = 5u® + -+ — 2u — 2)(u®? — 9u® + - + 80u — 16)
co (ud + 0 4+ 2u+1)%) (u'® + 10u™ + - -+ + 32u + 4)
c(u?? 4 110 + - -+ 1408u + 256)
c3, Co (w4 4u® - fu— 1)+ 180 + - — 3u—1)
(Ut —u® -~ 276u 4 1133)
ca, 11 (u® 4 2u'® - du — 1) (w2 =60 + - du— 1)
S(u?t = 3u® - — 5du + 59)
s ((u* = 3u® +u? + 2u + D)% (u*® — 11u'* 4 - 4 73u — 25)
(U 4120 -+ 672u + 64)
6 (u® 4+ 4u’® - u+ D)W+ 180 4+ — 3u — 1)
(Ut — w4 = 276u + 1133)
7 (u® 4+ u? = 1)®)(u'® = 5u" 4+ = 2u + 2)(u®? — Yu?! + - + 80u — 16)
cs (4w +u? + D5 W® —7uM + - +3u? - 1)
(U =120 4 — 64u + 8)
¢10 (u® 4w 4 2u+ 2) (w2 w20 - 10)

(Ut —u® 4 - — 3286u + 2677)

19



V. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C7 ((y?’*y2+2y—1)8)(y15*10y14+"'+32y*4)
C(y? = 119" + - — 1408y + 256)
C2 ((y3+3y2 + 2y — 1)8)(915 —2y14+"' — 8y — 16)
(2% + 2+ - — 663552y + 65536)
crcaco | @78 H 1y — 1)y 4 3657 o+ Oy + 1)
(P 4 27y + - - + 64316y + 1283689)
€4, C11 W+ 4+ 1y — 1)y — 1297 4 — 66y + 1)
(Y 3y% + - — 3152y + 3481)
s ((y* = 7y* + 159" — 2y + 1)°)(y"° — 199" + - + 4329y — 625)
. (y22 o 26y21 + -+ — 273920y + 4096)
cs (" +y° +3° + 2y +1)°)(y"° = 3y + -+ 6y — 1)
(P =207 4+ 224y + 64)
c10 (y"” + 7y + -+ 39y — 4)(y* + 199! + - + 40y + 100)

S(y* 4 15y% + -+ - 4 16368400y + 7166329)
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